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1) The next number in the following sequence of numbers 
2, 3, 10, 15, 26, 35, ?, is 
2, 3, 10, 15, 26, 35  ±ýÈ ¦¾¡¼¡¢ý «Îò¾ 
ÕôÒ = 
? 

a) 48 b) 49  c) 50  d) 56 

2) If 6
1
=+

x
x , then ?
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x  ±É¢ø ?
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a) 32 b) 34  c) 36  d) 38 

3) If 3
347

325
yx +=

+

+
, then, ±É¢ø 

a) x = -6, y = 11 b) x = -11, y = -6 
c) x = 11, y = -6 d) x = -11, y = 6 

4) The average of first 20 even natural numbers is 
Ó¾ø þÕÀÐ þÃð¨¼ôÀ¨¼ þÂø ±ñ¸Ç¢ý ºÃ¡º¡¢ 
a) 20 b) 21  c) 40  d) 41 

5) Number of prime numbers less than 30 is 
30'ìÌ Ì¨ÈÅ¡É þÂø À¸¡ ±ñ¸Ç¢ý ±ñ½¢ì¨¸ 

a) 9  b) 10  c) 11  d) 12 

6) The sum of two numbers is 40 and their product is 375. 
What will be the sum of their reciprocals? 
þÕ ±ñ¸Ç¢ý ÜÎ¾ø 40, «¨Å¸Ç¢ý 
¦ÀÕì¸ÈÀÄý 375. «ó¾ þÕ ±ñ¸Ç¢ý 
¾¨Ä¸£Æ¢¸Ç¢ý ÜÎ¾ø 

a) 
40

1
 b) 

75

8
  c) 

4

75
  d) 

8

75
 

7) Which term of the series 7, 11, 15, 19,-.is 407. 
7, 11, 15, 19,... ±ýÈò ¦¾¡¼¡¢ø 407 ±ò¾¨ÉÂ¡ÅÐ 

ÚôÒ. 
a) 99 b) 100  c) 101  d) 102 

8) A ball when dropped from a height bounces upto 
6

5
of 

the height from which it is dropped. If it is dropped from 
a height of 30m, how much distance does it travel 
before it come to rest? / ´Õ ÀóÐ 30Á£ 

ÂÃò¾¢Ä¢ÕóÐ Å¢¼ôÀÎ¸¢ÈÐ. «Ð ´ù¦Å¡Õ 

Ó¨ÈÔõ Å¢Øó¾ 
ÂÃò¾¢Ä¢ÕóÐ 
6

5
 
ÂÃò¾¢üÌ 

§Á¦ÄØõÒõ. «ôÀÊÂ¡É¡ø «ó¾ ÀóÐ ¿¢üÌÓýÉ÷ 
¸¼ó¾ ¦Á¡ò¾ àÃõ ±ùÅÇ×? 

a) 360m b) 300m c) 330m d) 390m 

9) The geometric mean of two numbers is 8, one of the 
numbers in 32, then find the other number is/þÕ 
±ñ¸Ç¢ý ¦ÀÕìÌ ºÃ¡º¡¢ 8 ´Õ ±ñ 32 ±É¢ø, ÁüÈ 
±ñ. 
a)  0 b) 2  c) 4  d) 8 

10)  

 
a) 5  b) 6  c) 8  d) 10 
 
 
 

11) If 20% of A = 30% of B = 40% of C then A:B:C is 
A’ý 20 º¾Å£¾õ = B’ý 30 º¾Å£¾õ = C’ý 40 
º¾Å£¾õ ±É¢ø A:B:C =  
a) 6:2:3 b) 6:4:3  c) 4:3:2  d) 3:4:6 

12)   A mixture of 56 litres contains alcohol and water in 
the ratio of 5 : 2. How much litres of water should be 
added to make this ratio 4:5? / 56 Ä¢ð¼÷ ¸¨ÃºÄ¢ø 
¬ø¸†¡Öõ, ¿£Õõ 5:2 ±ýÈ Å¢¸¢¾ò¾¢ø 
ûÇÐ. 
±ùÅÇ× Ä¢ð¼÷ ¿£÷ §º÷ò¾¡ø þó¾  ¸¨ÃºÄ¢ý 
Å¢¸¢¾õ 4:5 ±ýÚ Á¡Úõ? 

a) 16 b) 30  c) 28  d) 34 

13) One year ago, a father was four times as old as his 
son. In 6 years time his age exceeds twice his son’s 
age by 9 years. The ratio of their present ages is / ´Õ 
ÅÕ¼ò¾¢üÌ Óý, ¾ó¨¾Â¢ý ÅÂÐ ¨ÀÂÉ¢ý 
ÅÂ¨¾ô §À¡ø 4 Á¼íÌ. ¬Ú ÅÕ¼í¸û ¸Æ¢òÐ 
¾ó¨¾Â¢ý ÅÂÐ Á¸É¢ý þÃñÎ Á¼íÌ ÅÂ¨¾ì 
¸¡ðÊÖõ 9 «¾¢¸õ. þÅ÷¸Ç¢ý ¾ü§À¡¨¾Â ÅÂÐ 
Å¢¸¢¾õ. 
a) 31:3 b) 33:9  c) 32:8  d) 31:5 

14) Out of 12 mirrors some mirrors are broken. Which one 
of the following cannot be the ratio of the broken 
mirrors to unbroken mirrors. 
12 ¸ñ½¡Ê¸û º¢Ä 
¨¼óÐ Å¢ð¼É. 
¨¼ó¾ 
¸ñ½¡Ê¸û ÁüÚõ 
¨¼Â¡¾ ¸ñ½¡Ê¸Ç¢ý 
Å¢¸¢¾õ ¸£úì¸ñ¼ÅüÚû ±ÐÅ¡¸ þÕì¸ ÓÊÂ¡Ð? 
a) 2:1 b) 3:1  c) 5:3  d) 7:5 

15) The ratio of the number of boys to that of girls in a 
school is 3 : 2. If 75% of boys and 80% of the girls are 
scholarship-holders,  then the percentage of students 
who do not get scholarship is: 

   ¨ÀÂý¸û ÁüÚõ ¦Àñ¸û Å¢¸¢¾õ 3 : 2 þÅ÷¸Ç¢ø       
   75 º¾Å£¾ ¨ÀÂý¸Ùõ, 80 º¾Å£¾ ¦Àñ¸Ùõ  
   
¾Å¢ò¦¾¡¨¸ Å¡íÌÀÅ÷¸û ±É¢ø 
¾Å¢ò¦¾¡¨¸  
   ¦ÀÈ¡¾ Á¡½Å÷¸Ç¢ý º¾Å£¾õ ±ùÅÇ×? 
   a) 24  b) 23  c) 22.5  d) 25 

16) In a bag there are coins of 25 Paise, 50 Paise and 1 
rupee in the ratio of 6:9:5. If there is Rs.22 in all, how 
many 50 Paise coins are there? 
´Õ ¨ÀÂ¢ø 25 ¨À, 50 ¨À ÁüÚõ 1å ¿¡½Âí¸û 
6:9:5 ±ýÈ Å¢¸¢¾ò¾¢ø 
ûÇÐ. ¦Á¡ò¾ Á¾¢ôÒ 
å.22, ±É¢ø 50 ¨À ¿¡½Âí¸û ±ò¾¨É 
a) 12 b) 18  c) 10  d) 20 

17) The monthly incomes of two persons are in the ratio 
4:7 and their expenses are in the ratio 11:20. If each of 
them saves Rs.400 per month, then their monthly 
income must be respectively. 
þÕ ¿À÷¸Ç¢ý Á¡¾ ÅÕÁ¡Éõ 4:7 ±ýÈ Å¢¸¢¾ò¾¢ø 

ûÇÐ. «Å÷¸Ç¢ý Á¡¾ ¦ºÄ×¸û 11:20 ±ýÈ 
Å¢¸¢¾ò¾¢ø 
ûÇÐ. ´ù¦Å¡ÕÅÕõ Á¡¾õ å.400 
§ºÁ¢ò¾¡ø «Å÷¸û ÅÕÁ¡Éí¸û Ó¨È§Â 
a) Rs.3600, Rs.6300 b) Rs.4000, Rs.7000 
c) Rs.4400, Rs, 7700 d) Rs.4800, Rs.8,400 

18) A and B together can do a piece of work in 6 days. A 
alone can do it in 10 days. In how many days can B do 
it alone? / A, B þÕÅÕõ §º÷óÐ ´Õ §Å¨Ä¨Â 6 
¿¡ð¸Ç¢ø ÓÊôÀ÷. A ÁðÎõ «§¾ §Å¨Ä¨Â 10 
¿¡ð¸Ç¢ø ÓÊôÀ÷ ±É¢ø B ÁðÎõ «§¾ §Å¨Ä¨Â 
±ò¾¨É ¿¡ð¸Ç¢ø ÓÊôÀ÷? 

a) 12 b) 14   c) 15  d) 18 
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19) 45 men can complete a piece of work in 60 days, then 
54 men complete the same work in how many days? /  
45 ÁÉ¢¾÷¸û ´Õ §Å¨Ç¨Â 60 ¿¡ð¸Ç¢ø ÓÊôÀ÷ 
±É¢ø 54 ÁÉ¢¾÷¸û «ó¾ §Å¨Ä¨Â ÓÊì¸ 
±ùÅÇ× ¿¡û ¬Ìõ? 
a) 40  b) 50  c) 60   d) 55 

20) Certain men can finish a job in 16 days, had there 
been 2 men more than the work will be over 4 days 
less. How many men were there originally? /´Õ 
§Å¨Ä¨Â º¢Ä÷ 16 ¿¡ð¸Ç¢ø ÓÊôÀ÷. 2 ¬ð¸û 
«¾¢¸Á¡É¡ø §Å¨Ä 4 ¿¡ð¸û Ì¨ÈÅ¡¸ ÓÊÔõ. 
±É¢ø Ó¾Ä¢ø þÕó¾ º¢Ä ¿À÷¸û ±ò¾¨É §À÷?  
a) 4  b) 6  c) 8   d) 10 

21) Raju is twice as good as Vijay Together they finish the 
work in 14 days In how many days can Raju alone do 
the same work? / Ã¡ƒ¥, Å¢ƒö¨Â Å¢¼ þÃñÎ 
ÁðíÌ ¾¢ÈÉ¡ÉÅý. þÕÅÕõ §º÷ó¾¡ø ´Õ 
§Å¨Ä¨Â 14 ¿¡ð¸Ç¢ø ÓÊôÀ÷. Ã¡ƒ¥ ÁðÎõ 
«ó¾ §Å¨Ä¨Âî ¦ºöÂ ±ùÅÇ× ¿¡ð¸Ç¡Ìõ. 
a)15  b) 18 c) 20  d) 21 

22) A can do 4/5
th
 of the work in 12 days, B can do 2/3 of 

the work in 8 days. If both worked together, then the 
work will be over in ____ days? / A ±ýÀÅ÷ 5ø 
¿¡ýÌÀíÌ §Å¨Ä¨Â 12 ¿¡ð¸Ç¢ø ÓÊôÀÅ÷. 
«§¾ §Å¨ÄÂ¢ø 2/3 Àí¨¸ B ±ýÀÅ÷ 8 ¿¡ð¸Ç¢ø 
ÓÊôÀ÷. þÕÅÕõ §º÷óÐ §Å¨Ä ¦ºö¾¡ø ____ 
¿¡ð¸Ç¢ø §Å¨Ä ÓÊÔõ. 
a) 5 1/3 b) 6 2/3 c) 7 1/2  d) None 

23) The cost price of 36 books is equal to the selling price 
of 30 books. The gain percentage is / 36 
Òò¾¸í¸Ç¢ý «¼ì¸ Å¢¨Ä, 30 Òò¾¸í¸¨Ç Å¢üÈ 
Å¢¨ÄìÌ ºÁõ ±É¢ø Ä¡À º¾Å£¾õ 

a) 18% b) 20%  c) 16 1/3% d) 15 
1/2% 

24) 

3

1
2

1
3

1

+
+

= 

a) 24/7 b) 7/24  c) 4/27  d) 27/4  

25) Which of the following diagrams correctly represents 
Proton, Electron and Atom? / ¸£úì¸ñ¼ÅüÚû ±ó¾ 
Å¨ÃÀ¼õ Ò§Ã¡ð¼¡ý, ±ÄìðÃ¡ý ÁüÚõ 
«Ïì¸¨Çì ÌÈ¢ìÌõ. 

 
26) Out of total 90 students appeared, 40 students passed 

in Maths, 60 students passed in English, 15 students 
failed in both, then how many students passed in both / 
§¾÷× ±Ø¾¢Â ¦Á¡ò¾ 90 Á¡½Å÷¸Ç¢ø, 40 §À÷ 
¸½¢¾ò¾¢ø §¾÷îº¢, 60 §À÷ ¬í¸¢Äò¾¢ø §¾÷îº¢, 15 
§À÷ þÃñÊÖõ §¾¡øÅ¢ ±É¢ø ±ùÅÇ× §À÷ 
þÃñÊÖõ §¾÷îº¢? 

a) 20 b) 25  c) 30 d) 35 
 

27) What is the probability of having 53 Fridays in a leap 
year./ ´Õ Ä£ô ÅÕ¼ò¾¢ø 53 ¦ÅûÇ¢ì¸¢Æ¨Á¸û 
þÕôÀ¾ü¸¡É ¿¢¸ú¾¸×? 

a) 
7

1
 b) 

7

2
  c) 

53

52
  d) 

366

365
 

28) An elevator has a capacity of 12 Adults or 20 children. 
How many adults can board the elevator with 15 
children? / ´Õ Á¢ý ¿¸÷ò¾¢Â¢ø 12 ¦À¡¢ÂÅ÷¸û 
«øÄÐ 20 º¢ÚÅ÷¸û ¦ºøÄÄ¡õ. 15 º¢ÚÅ÷¸Ù¼ý 
±ò¾¨É ¦À¡¢ÂÅ÷¸û 
¼ý ¦ºøÄÄ¡õ. 
a) 3  b) 4  c) 5  d) 6 

29) If the perimeter of a rhombus is 52 cm and one of its 
diagonals is 24 cm, then the area of the rhombus is 
´Õ º¡öºÐÃò¾¢ý ÍüÈÇ× 52 ¦º.Á£, ´Õ 
ã¨ÄÅ¢ð¼õ 24 ¦º.Á£, ±É¢ø º¡öºÐÃò¾¢ý 
ÀÃôÀÇ× ±ùÅÇ×? 

a) 100 cm
2
 b) 120 cm

2
 c) 140 cm

2
 d) 160

2 

30) If a side of an equilateral triangle is 4 cm, then the area 
is / ´Õ ºÁÀì¸ Óì§¸¡½ò¾¢ý ´Õ Àì¸õ 4 ¦º.Á£, 
±É¢ø ÀÃôÀÇ× ±ùÅÇ×? 

a) 2 3  b) 4 3   c) 6 3   d) 8 3  

31) If the radius of a circle is doubled, its area is increased 
by / ´Õ Åð¼ò¾¢ý ¬Ãõ þÃñÎ Á¼í¸¡É¡ø, 
ÀÃôÀÇ× ±ò¾¨É º¾Å£¾õ 
ÂÕõ 

a) 200% b) 300% c) 400% d) 500% 

32) A rectangular room measures 10m x 10m x 5m. What 
is the maximum length of the stick it can 
accommodate? 
´Õ ¸É ¦ºùÅ¸ «¨ÈÂ¢ý À¡¢Á¡½õ 10m x 10m x 

5m þó¾ «¨ÈÂ¢ø ¨Åì¸ì ÜÊÂ Á¢¸ ¿£ÇÁ¡É 
Ìîº¢Â¢ý ¿£Çõ ±ùÅÇ×? 

a) 10 m b) 15 m  c) 20 m  d) 25 m 

33) The length of a diagonal of a cube is 12 3  cm, then 

the surface area of the cube is 

´Õ ¸É ºÐÃò¾¢ý ã¨Ä Å¢ð¼õ 12 3  ¦º.Á£, 
±É¢ø ¸ÉºÐÃò¾¢ý ÒÈôÀÃôÒ ±ùÅÇ×? 

a) 864 cm
2
 b) 860 cm

2
 c) 856 cm

2
 d) 852 

cm
2 

34) Three solid metallic balls of radii, 3 cm, 4cm and 5 cm 
are melted and moulded into a single solid ball. The 
radius of the new ball is 
ãýÚ 
§Ä¡¸ì §¸¡Çí¸Ç¢ý ¬Ãí¸û Ó¨È§Â 
3cm, 4cm ÁüÚõ 5cm þ¨Å¸¨Ç 
Õì¸¢ ¾Â¡¡¢ìÌõ 
´Õ ¦À¡¢Â 
§Ä¡¸ì §¸¡Çò¾¢ý ¬Ãõ ±ùÅÇ× 

a) 6 cm b) 7 cm  c) 8 cm  d) 10 cm 
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35) The following Pie- Chart shows the marks obtained by 
a student in an examination who scored 720 marks in 
all. Study the diagram and answer the questions. 

கீ��க�ட வ	ட விள�க�பட�தி� ஒ� மாணவ� 
ஒ� ேத�வி� எ��த ெமா�த மதி�ெப�  720 

�றி�க�ப	��ள . கீ��க�ட வினா�க#�� 
விைடயளி�க'(. 

 
The subject in which the student Scored 16  2/3%  of 
his total Score is  

எ)த பாட�தி� இ)த மாணவ� ெமா�த 
மதி�ெப�ணி� 16 2/3%   மதி�ெப� எ��தா� 
a) English  b) Science c) Maths d) Tamil 

36) The sum of two numbers is 528 and their HCF is 33. 
Then the number of pairs of such numbers satisfying 

the above conditions is / இர�� எ�களி� ,�த� 

528, அ2வி� எ�களி� மீ.ெப.வ 33. எ�தைன ேசா6 

எ�க� இைத� ேபால உ�ளன? 
A) 3 B) 4  C) 5  D) 6 

37) Two number are in the ratio 4:5 and their LCM is 180 
the smallest number is  
இர�� எ�க� 4:5 எ�ற விகி��தி� 
உ�ளன.அைவகளி� மீ.சி.ம 180 சிறிய எ�? 
a) 9  b) 15  c) 36  d) 45 

38) What is the greatest number which on dividing 260, 
720 and 1410 leaves 7 as remainder in each case. 
a) 17 b) 19  c) 23  d) 27 

எ)த மிக� ெப:ய எ�ணா� 260, 720 ம;<(  
1410’ஐ வ��தா� அைன�தி>( 7 மீதியாக வ�(. 

39) What is the greatest number which on dividing 152, 
277 and 427 leaves equal remainder?  
a)17 b) 19  c) 25  d) 27  

எ)த மிக� ெப:ய எ�ணா� 152, 277 ம;<(  427ஐ 
வ��தா� அைன�தி>( ஒேர மீதி வ�(?   

40) How many possible pairs of numbers are there whose 

HCF is 15 and their product is 5400? / இர�� 
எ�களி� மீ.ெப.வ 15 ம;<( அத� ெப��க;பல� 
5400, இைத� ேபா� எ�தைன ேசா6 எ�க� உ�ளன. 
a) 2  b) 3  c) 4  d) 5  

41) Find the least square number which is divisible by 8, 
15 and  24. / எ)த மிக? சிறிய வ��க எ�ைண 8, 15  

ம;<( 24 மீதியி�லாம� வ���(. 
a) 1600 b) 3600  c) 2304  d) 5184 
 
 
 
 
 

42) 4 bells ring at intervals of 30 minutes, 1 hour ,1 ½  hrs  
and  1 hour 45 minutes  respectively. All the bells ring 
simultaneously at 12 noon. When will they again ring 
simultaneously? 

4 மணிக� 30 நி, 1 மணி, 1 ½  மணி ம;<( 1 மணி 
45 நிமிட இைடெவளியி� ஒலி�கி�றன அைன�  

மணிக#(, ந�பக� 12 மணி�� ஒ�றாக 

ஒலி�கி�றன அைன� ( தி�(ப எ�ேபா  ஒ�றாக 
ஒலி��(?        
a) 12 Midnight    b) 3 AM c) 6 AM  d) 9 AM 

43) The maximum number of students among whom 2146 
pens and 2516 pencils can be distributed in such a 
way that each student gets same number of pens and 
pencils is 

2146 ேபனா�கைளA(, 2516 ெப�சி�கைளA( 
அதிகப	ச( எ�தைன மாணவ�க#�� சம 
எ�ணி�ைகயி� ேபனா�கைளA(, சம 
எ�ணி�ைகயி� ெப�சி�கைளA( தரலா(. 
A) 37 B) 74  C) 112  D) 224 

44) The greatest number of four digits which when divided 
by 3, 5, 7, 9 leaves remainders 1, 3, 5, 7 respectively is 

எ)த மிக�ெப:ய நா�� இல�க எ�ைண 3, 5, 7, 9 

ஆ� வ��க மீதிக� Cைறேய 1, 3, 5, 7 வ�(? 
A) 9763 B) 9764  C) 9766  D) 9765 

45) LCM and HCF of  12/35, 16/25 and 18/75 is 
A) 144/5 & 4/175  B) 144/15 & 4/175 
C) 144/5 & 2/525  D) 48/5 & 2/175 

46) A, B, C start running at the same time and at the same 
time and in the same direction in a circular track. A 
completes a round in 252 seconds, B in 308 seconds 
and C in 198 seconds. After what time will they meet 
again at the starting point? 

A, B, C D�< ேப� ஒ� வ	ட� பாைதயி� ஒேர 
இட�திலி�) , ஒேர ேநர�தி�, ஒேர திைசயி� 
ெதாட�?சியாக ஒ�கி�றன�. A ஒ� E;< C6�க 
252 வினா6க#(,  B ஒ� E;< C6�க 308 
வினா6க#(, C ஒ� E;< C6�க 198 வினா6க#( 

எ�� � ெகா�கி�றன�. 
A) 26 minutes 18 seconds B) 42 minutes 36 secinds 
C) 45 minutes  D) 46 minutes 12 seconds 

47) What is the least number which when divided by the 
numbers 3, 5, 6, 8, 10 and 12 leaves in each case a 
remainder 2 but when divided by 13 leaves no 
remainder? 
எ)த மிக? சிறிய எ�ைண 3, 5, 6, 8, 10 ம;<( 

12ஆ� வ��க ஒேர மீதியாக 2( ஆனா� 13ஆ� 
வ��தா� மீதி வரா ? 
A) 312 B) 962  C) 1512  D) 1586 

48) The retail price of a commodity decreased from Rs.16 
per kg to  Rs.14 per kg. Find the percentage decrease. 

ஒ� ெபா�ளி� சி�லைற விைல I.16 லி�)  I 
14 ஆக �ைரகிற . எ2வள' சதவ Jத( �ைற) �ள .  

a) 14 
7

2
%   b) 12.5% c) 20% d) 33  1/3% 
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49) The price of LPG is increased by 20% How much 
percentage its consumption must be reduced so as not 
to increase the expenditure? 

சைமய� வாAவி� விைல 20% உய��த�ப	டா�
அத� ெசல'� ெதாைகைய உய��தாம� எ�தைன 
சதவ Jத( அத� உபேபாக�ைத� �ைற�க ேவ��(
a)20%  b) 16  2/3% c) 25%    

50) The price of tomato decreases by 50% how much 
percent  must its consumption be increased so as not 
to decrease the expenditure? 

த�காளியி� விைல 50% �ைற)தா� த�காளி�� 
எ�ேபா  ஆ�( ெசலைவ� �ைற�காம�
உபேயாக�ைத எ�தைன சதவ Jத( அதிக:�கலா(
a) 331/3% b) 50%  c) 75%  

51) A sum of money amounts to Rs. 5,200 in 5 years  and  
to Rs 5,680 in 7 years at Simple interest the ra
interest Per annum is 

ஒ� ெதாைக தனி வ	6யி� 5 ஆ��களி� I

ஆக'(, 7 வ�Lகளி� I 5,680 ஆக'( ஆனா� 

வ	6 வ Jத( எ2வள'/ 
A) 4% B) 5%     C) 6%  D) 8%

52) A borrows Rs. 80,000 at the rate of 12%  Per annum 
Simple interest and B borrows Rs. 91,00
od 10% per annum,  simple interest. In how many 
years will their amounts of debt be equal?

A எ�பவ� 12 சதவ Jத தனிவ	6 வ Jத�தி� I
ஐ கடனாக� ெப;றா�, B எ�பவ� 10%

தனி வ	6 வ Jத�தி� I 91,000 ஐ கடனாக� ெப;றா�
இவ�க� இ�வர  கட� ெதாைக எ�தைன 
வ�டLகளி� ச(மாக இ���(? 
A) 20 B) 22     C) 24  D) 25

53) A sum compounded annually becomes 

self in 2years. Find the rate of interest?

ஒ� அச� வ�ட ,	6 வ	6 வ Jத�தி�

ஆ��களி� 
16

25
 மடLகானா� வ	6 வ Jத( 

எ2வள'? 
A) 4% B) 5%    C) 20%   D) 25% 

54) There are chocolates to be equlity distributed to 60 students, 
but 20 students were absent so the students got 2 extra 
chocolates.How many chocolates are there?
60 மாணவ�க#�� சமமாக ெகா��பத;காக சா�ேல�க� 

இ�)தன. 20 மாணவ�க� வராததா� ஒ2ெவா� 

மாணவO��( 2 சா�ேல	�க� அதிக( கிைட�த 

சா�ேல	�க� எ�தைன? 

A) 300 B) 240        C) 120      D) 180

55) Six faces of a cube are numbered 1 to 6 .Three different 
position of that cube are as shown below
exactly opposite to 4? 

ஒ� பகைட ஆ< ப�கLகளி� 1 
�றி�க�ப	��ள� .D�< ெவ2வா< நிக�'க� கீேழ 
ெகா��க�ப	��ளன எ� ‘4’�� எதிேர உ�ள எ�
A) 2  B) 3  C) 6  

9840433955)For other branches visit website   -4-   www.radiannews.pbworks.com
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The price of LPG is increased by 20% How much 
percentage its consumption must be reduced so as not 

உய��த�ப	டா� 
அத� ெசல'� ெதாைகைய உய��தாம� எ�தைன 
சதவ Jத( அத� உபேபாக�ைத� �ைற�க ேவ��( 

   d) 33 1/3% 

eases by 50% how much 
ust its consumption be increased so as not 

�ைற)தா� த�காளி�� 
எ�ேபா  ஆ�( ெசலைவ� �ைற�காம� அத�  

அதிக:�கலா(?.  
 d) 100% 

A sum of money amounts to Rs. 5,200 in 5 years  and  
to Rs 5,680 in 7 years at Simple interest the rate of 

ஆ��களி� I 5,200 
ஆக'( ஆனா� 

D) 8% 

A borrows Rs. 80,000 at the rate of 12%  Per annum 
Simple interest and B borrows Rs. 91,000 at the rate 
od 10% per annum,  simple interest. In how many 
years will their amounts of debt be equal? 

சதவ Jத தனிவ	6 வ Jத�தி� I 80,000 

10% 

ஐ கடனாக� ெப;றா�. 
ெதாைக எ�தைன 

D) 25 

A sum compounded annually becomes 
16

25
 times of it 

self in 2years. Find the rate of interest? 

ஒ� அச� வ�ட ,	6 வ	6 வ Jத�தி� 2 

மடLகானா� வ	6 வ Jத( 

D) 25%  

There are chocolates to be equlity distributed to 60 students, 
but 20 students were absent so the students got 2 extra 
chocolates.How many chocolates are there? 

பத;காக சா�ேல�க� 

மாணவ�க� வராததா� ஒ2ெவா� 

சா�ேல	�க� அதிக( கிைட�த . ெமா�த 

B) 240        C) 120      D) 180 

Six faces of a cube are numbered 1 to 6 .Three different 
shown below. Which number is 

 
 Cத� 6 வைர 

D�< ெவ2வா< நிக�'க� கீேழ 
எதிேர உ�ள எ� எ�ன? 

 D) 5 

56) 
( )( )( ) ( )( )
( )( ) ( )( ) (




++

−

3.78.68.63.73.7

8.68.63.73.73.7

A) 0  B) 0.25  
 

57)  

 
 A) 45 B) 48  

58)  

A) 4  B) 5  

59) The area of a rectangular field is 144 m

increased by 5 metres , its area increases by 40 m
the length of the  field? ஒ� ெச2வக வ6வ வயலி� பர�Q 

144மீ
2

 . அத� நJள( 5மீ அதிக:�க�ப	டா� பர�Q 
,�கிற  . அ2வயலி� நJள(
A)16m B)18m  

60) ́ Õ Óì§¸¡½õ  ±ýÈ Å¢¸¢¾ò¾¢ø ¾ý Àì¸í¸¨Çì 
¦¸¡ñÎûÇÐ. «ó¾ Óì§¸¡½ò¾¢ý ÍüÈÇ× 52 
¦º.Á£. ±É¢ø «¾ý Á¢¸îº¢È¢Â Àì¸ò¾¢ý ¿£Çõ
A)9 ¦º.Á£ B)10 ¦º.Á£ 
The sises of a triangle are in the ratio of
perimeter is 52cm, 

 
 
 
 then the length of the smallest side is 

 A) 9 cm B) 10 cm 

 

 

வ ��ேவென�� நிைன�தாேயா 
ேத
� ேசா� நித� தி��
பல சி�ன"சி� கைதக� ேபசி
மன$ வா
� %�ப மிக &ழ��
பிற) வாட* பல ெசய+க� ெச,%
நைர -
. கிழ* ப/வெம,தி
ெகா01 -2�. கிைரெயன பி� மா3$
பல ேவ
.ைக மனிதைர* ேபாேல
நா� வ ��ேவென�� நிைன�தாேயா
 

                                  
 
 
 
 
 

ALWAYS AIM TO TOP IN ANY
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)( )
)( )



8.63

8.6
=  

 C) 0.5  D) 1 

C) 56  D) 50 

 
 C) 6 D) 7 

The area of a rectangular field is 144 m
2

 if the length is 

increased by 5 metres , its area increases by 40 m
2

. Find 
ஒ� ெச2வக வ6வ வயலி� பர�Q 

மீ அதிக:�க�ப	டா� பர�Q 40 மீ
2

 

நJள( எ2வள'? 
 C)20m  D)22m 

±ýÈ Å¢¸¢¾ò¾¢ø ¾ý Àì¸í¸¨Çì 
ÎûÇÐ. «ó¾ Óì§¸¡½ò¾¢ý ÍüÈÇ× 52 

¦º.Á£. ±É¢ø «¾ý Á¢¸îº¢È¢Â Àì¸ò¾¢ý ¿£Çõ 
 C)11 ¦º.Á£     D)12 ¦º.Á£ 

The sises of a triangle are in the ratio of. If the 

then the length of the smallest side is  
 C) 11 cm D) 12 cm 

வ ��ேவென�� நிைன�தாேயா ! 
ேத
� ேசா� நித� தி�� 

பல சி�ன"சி� கைதக� ேபசி 
மன$ வா
� %�ப மிக &ழ�� 

பிற) வாட* பல ெசய+க� ெச,% 

நைர -
. கிழ* ப/வெம,தி 
ெகா01 -2�. கிைரெயன பி� மா3$ 

பல ேவ
.ைக மனிதைர* ேபாேல 

நா� வ ��ேவென�� நிைன�தாேயா! 

                                  பாரதியா) 

ALWAYS AIM TO TOP IN ANY EXAM. 
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1) Next No: (?) in the sequence: 
2,    3,      10,   15,  26,   35,    ?    = 50 
 
1

2
+1 2

2
-1 3

2
+1 4

2
-1 5

2
+1 6

2
-1 7

2
+1 = 50 

2, 3, 10, 15, 26, 35  
«Îò¾ 
ÕôÒ: 
ÜðÎò¦¾¡¼÷ («) ¦ÀÕìÌ ¦¾¡¼Ã¡¸ þÕì¸Ä¡õ 
(«) Å÷ì¸õ, ¸ÉÁ¡¸ þÕì¸Ä¡õ. 
´ýÚ Å¢ðÎ ´Õ ±ñ½¢ý ÜÎ¾Ä¡¸ þÕì¸Ä¡õ. 
1, 4, 9, 16, 25, 36, 72+1 
2, 3, 10, 15, 26, 35, 50505050 
 

2) ?
1

,6
1

2

2 =+=+
x

x
x

x  

x
x

x
x

x
x

1
)(2

11
2

2

2

×++=






 +  

2
1

6
2

22 ++=
x

x  

2

2 1
236

x
x +=−  

2

2 1
34

x
x +=  

34
1
2

2 =+
x

x  

 

3) 3
347

325
yx +=

+

+
, then x, y 

347

347

347

325

−

−
×

+

+
 

3611
4849

3611

)34()7(

2431432035
22

−=
−
−

⇒

−

−+−
⇒

 

11-6 3 = x+y 3  

x = 11 y =– 6 
 

4) Average of first 20 even natural numbers? 
Ó¾ø 20 þÃð¨¼ô À¨¼ þÂø ±ñ¸Ç¢ý ºÃ¡º¡¢  
Sum of first ‘n’ even natural number = n(n+1) 
Sum of first ‘n’ even natural number = 20(20+1) 

Average of first ‘20’ even natural numbers =
20

2120×
 

         = 21 
 

5) Number of prime numbers less than 30? 
30ìÌ Ì¨ÈÅ¡É þÂø À¸¡ ±ñ¸Ç¢ý ±ñ½¢ì¨¸ 

2, 5, 3, 7, 11, 13, 17, 19, 23, 29 
Total = 10 prime numbers 
 
 
 
 

 

6) Sum of two numbers = 40 
þÕ ±ñ¸Ç¢ý ÜÎ¾ø = 40  
Their product = 375 
What will be the sum of their reciprocal? 
x + y = 40 
xy = 375 

xy

yx

yx

+
=+

11
 

75

811
=+

yx
 

 

7) Which term of series 7, 11, 15, 19,-.. is 407. 

1+
−

=
d

al
n  

a = 7 l = 407  d = 11-7 = 4 

1
4

7407
+

−
=n  

1
4

400
+=n  

n = 101 
 

8) A ball dropped from a height bounces upto 5/6 of the 
height which is dropped. If it is dropped from a height 
of 30 m, how much distance does it travel come to 
rest? 












+







+






+⇒×= .....
6

5
30

6

5
30230

6

5
30

2

a  







−

+⇒=
××
××

=
r

a
r

1
230

6

5

3056

6530
2

2

  (a= 25, r = 5/6) 










−−
+

)6/51(1

)6/5(30
230 = 30+2(150) = 330 m 

 

9) GM of 2 numbers = 8 
þÕ ±ñ¸Ç¢ý ¦ÀÕìÌ ºÃ¡º¡¢ 8 ´Õ ±ñ 32 ±É¢ø, 
ÁüÈ ±ñ___ 

8=ab  

ab = 64 
One number is 32 

32

64
=a  

a = 2 
 

10)  

 
(8+10) – (x+4) = 6 
18 – x- 4 = 6 
-x+14 = 6 
14-6 = x 
x = 8 
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11) 20% A = 30 % of B = 40% of C then A:B:C 

KCBA ===
100

40

100

30

100

20
 

2A = 3B = 4C = K 

A:B:C = 
4
:

3
:

2

KKK
 

= 
4

1
:
3

1
:
2

1
 

12
4

1
:12

3

1
:12

2

1
×××=  

= 6:4:3 
 

12) Alcohol, A = 4056
7

5
=× litre 

Water, W = 1656
7

2
=× litre 

5

4

16

40
=

+
=

xW

A
 

200 = 64+4x 
4x = 136 

4

136
=x  

x = 34 litre 
 

13) F = 4S 
f+7 = 2 (S+7) + 9 
4S + 7 = 2S+14+9 
2S = 16 
S = 8 
Their present age F  = 4(8) 
    = 32+1 
   F  = 33 

S = S+1 ⇒S = 9 

33:9 
 

14) “12” cannot be split in the ratio of 5:3 

12ஐ 5:3 என À¢¡¢ì¸ þÂÄ¡Ð. 
 

15) Boys : Girls 
B   : G 
3  : 2 

40100
5

2
:60100

5

3
=×=×  

45
100

75
60 =×  32

100

86
40 =×  

Percentage of student did not get scholarship  
⇒ 100 – (45+32) = 23 

 

16) 6K (25 paise)+9K (50 paise)+5K (1 rupee) = 2200 
1100K = 2200 

2
1100

2200
==K  

(50 paise) 9K = 9×2 = 18 
50 paise coins = 18 
 
 

17)                              A B 
Income = I    4x 7x 
Expenses = E 11y 20y 
 
4x – 11y = 400  ×20 
7x – 20y = 400  ×11 
 
80x – 220y = 8000 
77x – 220y = 4400 
 
3x     = 3600 

3

3600
=x  

x = 1200 
4x = 4(1200) = 4800 
7y = 7(1200) = 8400 
 

18) A+B = 
6

1
 

A = 
10

1
 

B = 
10

1

6

1
−  

   
15

1

30

2

30

35
==

−
=  

‘B’ can do it alone = 15 days 
 

19) 45 men → 60 days 

54 men → ? 
M1D1 = M2D2 
45 × 60 = 54 × ? 

? = 
54

6045×
 

Days = 50 
 

20) x × 16 = (x+2) 12 
16x = 12x + 24 
4x = 24  => x = 6 men 
 

21) Raju = x;    Vijay = 2x 

14

1

2

11
=+
xx

 

14

1

2

12
=

+
x

 

x = 21 
Raju = 21 days 
 

22) A → 4/5
th
 of work in 12 days 

A → 
4

5
12× = 15 days 

B → 2/3
th
 of work in 8 days 

B → 
2

3
8× = 12 days 

A+B = 
60

9

60

54

12

1

15

1
=

+
=+  

A+B = 
3

2
6

9

60
= days 
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23) C.P (36) = S.P (30) 

100×
−
S

SC
 

100
30

3036
×

−
=  

100
30

6
×=  

= 20% 
 

24) 

3

1
2

1
3

1

+
+

 

3/7

1
3

1

+
⇒  

7

3
3

1

+
⇒  

24

7
⇒  

 

25)  

 
«Ïì¸Ç¢ø 
û§Ç Ò§Ã¡ð¼¡ý, ±¦ÄìðÃ¡ý 

ûÇÐ. 
 

26)  

 
40 – x + x + 60 – x + 15 = 90 
115 – x = 90 
115 – 90 = x 
25 = x 
Passed in both Maths & English, x = 25. 
  

27) 1 leap year = 366 days 
1 leap year = 52 weeks + 2 days 
 
[ (Sun, Mon), (Mon, Tue), (Tue, Wed), (Wed, Thu), 

(Thu, Fri), (Fri, Sat) ] = 
7

2
 

Probability of having 53 Fridays = 2/7 
 
 
 

28) 12A = 20 C 

20

12
=C  

AAC =×⇒=
5

3
5

5

3
 

A = 3 
 

29)  

 
Perimeter, 4a = 52 cm 
a = 13 cm 
d1 = 24 
d2 = 10 

Area = 
2

1
×d1×d2 

= 
2

1
×24×10 

Area = 120 cm
2
 

 

30) Area of equilateral triangle   = 
4

3
a

2
 

= 16
4

3
×  

Area of E.q. triangle    = 4 3 cm
2
 

 

31) P → Q 

%100×






 −
P

PQ
 

Area of circle  = 
2rπ  (r = 10) 

   = 100π  

If radius doubled  = π (20)
2
  (r=20) 

   = 400π  

100
100

300
100

100

100400
×=×

−
π
π

π
ππ

= 300% 

 

32) Diagonal of cuboid  = 
222 hbl ++  

222 51010 ++=  

225=  

Max length of stick can accommodate = 15 m 
 

33) Diagonal of cube = a 3  

12 3 = a 3  

    a = 12 
surface area of cube = 6a

2
 

    = 6(12)
2
 

    = 6 × 144 = 864 cm
2
 

 



RADIAN IAS ACADEMY CHENNAI - 9840400825   MADURAI - 9840433955,  For other branches visit  www.radiannews.pbworks.com  (  8  )          

711 EVR Road, Opp. Anna Arch,Arumbakkam, CHENNAI-600106.    r.rajaboopathy@gmail.com    CHENNAI: 9840400825  MADURAI : 9840433955 

 

34) Vol. Sphere = 
3

3

4
rπ  

( ) 33

3

3

2

3

1
3

4

3

4
rrrr ππ =++  

3
3
 + 4

3
 + 5

3
 = r

3
 

27 + 64 + 125 = r
3
 

216 = r
3
 

r = 6 cm 
 

35) English = %
3

2
16100

360

60
=×  

 

36) Sum of two numbers = 528 
HCF = 33 
33x + 33y = 528 

x + y = 
33

528
 

x + y = 16 
(co-prime) 
[(1, 15), (3, 13), (5, 11), (7, 9) ]  
Number of pairs = 4 
 

37) Two numbers in the ratio 4:5 
4x      5x 
20x = 180 
    x = 9 
4x = 4×9 = 36 
5x = 5×9 = 45 
Smallest number = 36 
 

38) HCF (260-7, 720-7, 1410-7) 
       253,   713,    1403 

 
HCF = 23 
 

39) 152, 277 427  (HCF) 
(152 ~ 277) (277 ~ 427) (leaves no remainder) 
125, 150  = 25 
HCF  = 25 
 

40) 15x × 15y = 5400  

24
1515

5400
=

×
=xy  

xy = 24 
(co-prime) 
[(1, 24), (3, 8)] 
Number of pairs = 2 
 
 
 
 
 
 
 
 

41) Find the least number which is divisible by 8, 15, 24 

 
LCM = 2 × 2 × 3 × 2 × 5 
 
          ×3 ×2 ×5 
To make it perfect square = 2×2×3×3×2×2×5×5 
      = 3600 
 

42) 4 bells problem (30 min, 1 hr, 1hr 30 min, 1hr 45 min) 

 

LCM = 1260S = 
60

1260
= 21 hours(12 hours) = 9AM 

 

43) HCF = (2516, 2146) 
HCF = 74 
Each student that get same number of pens and 
pencils = 74 
 

44)    3, 5, 7, 9 
2 
   1, 3, 5, 7 
LCM (3, 5, 7, 9)K – 2 
315 K – 2 
K = 31 
315×31 – 2 
= 9765 – 2 
= 9763 
 

45) LCM & HCF of 
75

18
,

25

16
,

35

12
 

25

6
,

25

16
,

35

12
 

LCM = 
5

48

)25,25,35(

)6,16,12(
=

HCF

LCM
 

HCF = 
( )

)25,25,35(

6,16,12

LCM

HCF
 

HCF = 
175

2
 

 

46) A, B, C (Running in circular track) 
LCM (252, 308, 198) 

 

LCM = 
60

2772
= 46 min. 12 s. 
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47) Least no, 3, 5, 6, 8, 10 leaves 
Same remainder 2. 
LCM (3, 5, 6, 8, 10) = 120K + 2 

13

2120 +
=

K
   K = 8    

960

8120×
 

Ans = 962 
 

48) 16 → 14 

%5.12100
16

2
=×  

 

49) %
3

2
16

12

20100

100

100
=

×
⇒

+ R
R

 

 

50) %100
52

50100

100

100
=

×
⇒

− R
R

 

 

51) 7 yrs → 5,680 

5 yrs → 5200 

2 yrs → 480 
1 year = 240 
Principal = 5200 – 5 (240) 
= 5200 – 1200 
P = 4000 
I = 240 
R.I = ? 
n = 1 

SI = 
100

PNR
 

14000

100240

×
×

= R 

R = 6% 
 

52) 






 ××
=+







 ××
100

1091000
9100080000

100

1280000 NN

 
800 + 96N = 910 + 91 N 
5N = 110 
N = 22 

53) Amount = P 

N
r







 +
100

1  

N = 2 
2

100
1

16

25







 +=
r

PP  

22

100
1

4

5







 +=






 R
 

100
1

4

5 R
+=  

100

100

4

5 R+
=  

5×100 = 400+4R 
500 – 400 = 4R 
100 = 4R 

R = 
4

100
= 25% 

 

54) Let the number of chocolates be x, 

40
2

60

xx
=+  

4060

120 xx
=

+
 

40x+4800 = 60x 
4800 = 20x 

20

4800
=x  

x = 240 
 

55) Which number is exactly opposite to 4. 

 
1 = {3, 4, 2, 6} → 5 

4 → 6 
 

56) 
)8.6)(3.7()8.6()3.7(

)8.6()3.7(
22

33

++
−

 

)8.6)(3.7(8.63.7

)]8.6)(3.7(8.63.7)[8.6()3.7(
22

22

++
++−

=  

= 0.5 
 

57)  

 
Pythogareous theorem 

= 
22 4814 +  

= 25001962304 =+  

= 50 
 

58)  

 
(6 × ?) – 4 = 20 
6 × ? = 24 
? = 4 
 

59) lb = 144 
(l+5) b = 184 
lb + 5b = 184 
144 + 5b = 184 
5b = 40 
b = 8 

ml 18
8

144
==  

 


